3 Al

A

=

20
B
2

AT H AT Jn &

521,428,381
381,735,681
1,690,922
2,616,070
11,296,375
96,412,575
27,676,758

446,059,516

75,368,865

AT I 1Y

269,611,952
219,843,011
2,616,070
11,296,375
35,856,496

256,059, 568

13,552,384

F AT I

269,611,952
219,843,011
2,616,070
11,296,375
35,856,496

256,059,568

13,552,384

H
e
HI
fol
Pl
Mo
A

]
H0
02

[0

o

493,887

247,625
246,262

753,510

N259,623

307 212+01 o

o

493,887

247,625
246,262

753,510

N259,623

o

o

493,887
290,000

145,000
145,000

40,000

17,280

146,607

102,625
43,982

753,510

A 259,623

SRR

204,056,912

194,825,876
9,231,036

192,332,147

11,724,765

o

204,056,912

194,825,876
9,231,036

192,332,147

11,724,765

SRR

204,056,912

204,056,912

194,825,876
9,231,036

192,332,147

11,724,765

o

11,725,112

8,969,647
2,755,465

12,243,159

A518,047

13,000

13,000




FA: MNSAMDHSHE L
B LoI=R S
ol Lol=X EA (ool @
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 AR 2t eld| 13,000 13,000 0
OAaIEXIAlE 2tel X & 3,000
ORLEBS At K& 1,500
OEELUZEMOIE SAEHI 8,500
203 g =&l 40,850 40,850 0
03 Al F= &I H R A 40,850 40,850 0
OMs&Nds HREFA 3,800
OsXed dM=FA 25,650
OSXNEH HAHRFA 11,400
307 212tol & 29,200 29,200 0
= 14,600
L= 14,600
10 At S X2 X 29,200 29,200 0
OokolgXtel ZAHal &It 10,000
= 5,000
& 5,000
Okeolgditel 8 23 19,200
= 9,600
& 9,600
308 XXM SO0l 11,641,562 12,150,109 A508,547
= 8,955,047
= 2,686,515
01 XM BLEELS 11,641,562 12,150,109 A508,547
OLkeol gxtelAmd XA 11,641,562
= 8,955,047
= 2,686,515
405 RHAHE S| 500 0 500
01 MM =SZFHSHI 500 0 500
OUXEstoet +¢ 500
8t 0ls] 2% L LA S 473,800 194,300 279,500
2 150,000
L= 323,800
307 2I2toI & 473,800 164,300 309,500
= 150,000
= 323,800
10 Al2IS X2 =X 473,800 164,300 309,500
OUet=lsl EHE3 AIRY 2 86,000
Otigt=olsl EHEs HYXNAEE 2SS 4,000
Z2Y T2 ACM 2T 30,000
OZZHZIXNJALH2EH K& 300,000
= 150,000
L= 150,000
OLXRNER = 13,000
Od=LALU=HMH &8 K& 10,300




SN HEMDBEHMD
HH: Col=X B
ool o= EX (el &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SPEEETEY 15,500
OLAXEXSAAS 10,000
OO XIAZA HER| 5,000
SO N 788,586 634,378 154,208
2 740, 166
= 48,420
308 X+XI €+ HI S 0| & 788,586 634,378 154,208
2 740, 166
= 48,420
01 XS HALRES 788,586 634,378 154,208
OS)=0l ZSHBH 29 K& 48,420
OSAHLO SZAHS20| 2N 740, 166
2 740, 166
CQEEAHIA ALY 8,556,715 8,252,567 304, 128
2 6,898,472
= 1,658,243
308 X+XIEHHISO0I& 8,556,715 8,252,567 304, 128
2 6,898,472
= 1,658,243
01 XISHBAEES 8,556,715 8,252,567 304, 128
OLQIEE A~ 3,227,571
2 2,658,000
= 569,571
OLoEE SatAllA 5,149,144
2 4,240,472
= 908,672
OLISEHHIA SAXIA(XHH) 180,000
A2g N 10,015, 105 8,566,755 1,428,350
2 2,616,070
s 2,616,070
= 4,782,965
308 X+XIEHHISOI & 8,565,505 7,473,756 1,091,750
2 2,616,070
s 2,616,070
= 3,333,365
01 MRS HALBES 8,565,505 7,473,755 1,091,750
OwQXEX 24 16,980
OLEAN &2 23 42,450
OLQIoiIIEZ I N7 P2 48,000
ORHIZY 843 X 18,000
OZ2g g43 D20 23 169,800
OA2g AQ2E X 330,000
O¥2Y Z2IBBUMSY(AR) 211,500
OF2Y 29 X 1,188,600




SA: HEADYSHM DY
M o= EX
ol o= S (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &F o4 il i~ o HRs2
SEEEIETIRE 6,540, 175
= 2,616,070
= 2,616,070
= 1,308,035
403 TIXI SRS XH= 0| A 1,449,600 1,113,000 336,600
01 XX SHHI K2 2 & 1,449,600 1,113,000 336,600
OZRY s 365,400
OLQI=TAL & - 55 784,200
OLQI=TIAIL AE(HY) 300,000
2A22 Lo REIAAY 709,975 642,450 67,525
308 XIS 01 & 709,975 642,450 67,525
01 A SHBASES 709,975 642,450 67,525
OMASTII Ol A 478,647
ORRYZAY 29 231,328
Co=NE 29 X 738,808 878,808 A 140,000
308 XXI €I S 01 & 738,808 708,808 30,000
01 XX SHZAEES 738,808 708,808 30,000
OLol=xe 2% N 700,000
OLoI=X2 AKX HRMM 33,808
WoteoI=X Z&AY X 237,357 118, 100 119,257
308 XHXI RIS 01 & 237,357 71,100 166,257
01 X SHBASES 237,357 71,100 166,257
OLo NEHFET 23 135,357
OOlS®eixt 22 X 102,000
COIZTAL ISR 6,120,733 9,724,254 3,603,521
= 4,075,155
= 2,045,578
403 THXI SRS XH= 0| H 6,120,733 9,724,254 ~3,603,521
= 4,075,155
= 2,045,578
01 XX S KH2 2 & 6,120,733 9,724,254 ~3,608,521
OLO=TAIL JSL2AL 5,617,280
=2 3,744,853
= 1,872,427
OLQI=SRAL A%y X 495,453
= 330,302
= 165, 151
OLQIQANE Js2Y 8,000
QM AL 1,320,000 0 1,320,000
=2 1,320,000
403 REXISHHIS XH= 0| & 1,320,000 0 1,320,000
= 1,320,000




SM: HEMDYSHHD
M LoI=NEA
Sl LoI=X S (e
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 XFXISHRIXH2 2 & 1,320,000 0 1,320,000
OMUB LB (TT) LA 1,120,000
= 1,120,000
OENSEY H24NY 200,000
=2 200,000
COIME(THIHAIE BAR HRME X2 295,440 276,352 19,088
308 Xt XI £H 7 S 01 & 295,440 276,352 19,088
01 HXISHBABES 295,440 276,352 19,088
OLQIMEAIL SAR HRHH 273,552
OMIH=QI=RIAIE SAK XM & 21,888
COI= X AL X 22,730,682 20,705,468 2,025,214
= 11,296,375
= 11,434,307
307 912+0| ® 67,000 78,000 A11,000
05 I2t9IEt 2 30,000 41,000 A11,000
OFE LAQUAM 22y X2 30,000
10 ABl =X 8= 37,000 37,000 0
OLQIME(MINAE SAX 2418 7,000
OLQIMEAIA 024 Y BAX 80+ (3l 15,000
OMII2 Al AHER S0t (3l 15,000
308 XX EHHI S OI & 22,663,682 20,627,468 2,036,214
= 11,296,375
= 11,367,307
01 XIS B A2 ES 22,663,682 20,627,468 2,036,214
OLQIMEAS HIIQUBE XA(ALZ0H) 15,130,081
2 9,838,668
= 5,291,413
O=QMEANL SN SYXH 1,670,001
= 1,191,329
= 478,672
ORE YZNE SYNA(SSHHL) 356,530
= 266,378
= 90, 152
OMINEEIQVBE XA (IS0 4,752,000
OMIN=QAX AN A 2 755,070
Y=ARY 2 1,128,840 690,300 438,540
308 XX EHH S 01 & 483,840 352,800 131,040
01 KIXISHH B A 2 XS 483,840 352,800 131,040
O#=ARY PRAYRAY 29 224,640
O#=A2Yy Z2IYRY 259,200
403 KX EHH S R0 & 645,000 337,500 307,500
01 XFXISHRIXHZ 2 & 645,000 337,500 307,500




SM: HEMDYSHHD
M LoI=NEA
el Lol=x EX (e
_ - HEE =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
o#=ARY NS 645,000
SRNEA HLHH WS L 220,000 27,000 193,000
201 Lur2 | 45,000 27,000 18,000
01 ALR eIt 45,000 27,000 18,000
OSXN#I20F FUNSAVS 29 30,000
ONSMDPESHE0F HHEA 7S 15,000
207 APt 175,000 0 175,000
01 HRE Y| 175,000 0 75,000
OBHLUT =X TN 175,000
HEsM 222 S8 4o B gy 247,728,862 183,919,479 63,809,383
= 160,541,412
= 59,510,692
= 27,676,758
AS0t PRAHIA JlY 2= 247,728,862 183,919,479 63,809,383
= 160,541,412
= 59,510,692
= 27,676,758
0RO &5 604,285 400,000 204,285
= 402,857
= 201,428
403 Xt SRS XH 0] & 604,285 400,000 204,285
= 402,857
= 201,428
01 AXISH RS E 604,285 400,000 204,285
000 &5 604,285
= 402,857
= 201,428
O2I0IILEIEY 29 330,000 300,000 30,000
307 21201 & 330,000 300,000 30,000
05 QI2t9IEr2 330,000 300,000 30,000
OO0 EER 29 330,000
B SHAMAY X2 10,213,960 7,207,658 3,006,302
308 X+XI €I S 01 & 10,213,960 7,207,658 3,006,302
01 MHASH B LB ES 10,213,960 7,207,658 3,006,302
OYR0t 3 - 24lHl N 1,548,000
OO0t SB2S 29 N 38,760
BEY 29U 5,400
OORI01E BIRAY HLMAHI 4,355,460
OQIABIXIR ORI0IE DR 64,800
OWIIAIE PIHOIRI0IA HAULSE X 900,000
OWIIAE ORI0IE 2EE20 X2 1,344,000
OCHH RA 9124 8] (XHA) 72,000




SN HBADYSHHD
H: YEL 22S S 4o I S
CHol: K0F BEAUIA OB 25 (Erol: @2
_ _ SIEN
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
OFMoIEE of2i0ld xeedll Ad 25,740
OAMOoL Ol RaE=EZ XNE 1,859,800
EKUM BN 189,000 153,600 35,400
= 94,500
& 94,500
307 21Ztol ™ 189,000 153,600 35,400
= 94,500
& 94,500
05 BIZtR &= 189,000 153,600 35,400
OE=1M ExU= 189,000
= 94,500
= 94,500
2=0 AL X3 20,000 20,000 0
307 2I2toI & 20,000 20,000 0
04 QIZFHALE & 20,000 20,000 0
OsgES 2 HA 15,000
OSLABSIM - 27 HE B U3 5,000
SEESZEHYH 243 648, 160 600,646 47,514
= 309,580
= 338,580
307 21Ztol ™ 648,160 600,646 47,514
= 309,580
= 338,580
05 212t 9IEt3 648, 160 600,646 47,514
OEEESZEHH 29 346,000
= 173,000
& 173,000
OsdEsZEE2dH 018 K& 29,000
OUXN WA 21 24H] 273,160
= 136,580
= 136,580
OelolE WHw-dl 466,553 860,250 A 393,697
= 358,887
& 107,666
308 XX €M S 01 & 466,553 860,250 393,697
2 368,887
= 107,666
01 AXHHEANEXZ 466,553 860,250 A 393,697
O2I20IRI01E DD Y| 466,553
= 358,887
= 107,666
Oelold 243l 775,827 964,080 A 188,253
= 596,790
& 179,037




SN
X XH .
S Tt

oLk

_ _ HE T
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_WH HunsZ
308 AHX| CHH S 0| & 775.827 964,080 188,253
2 596,790
= 179,087
0 IXSHBAEES 775,827 964,080 188,253
O0BI0IE M2l 775,827
2 596,790
= 179,087
ORI0I& B&HMA 1,740,600 1,738,500 2,100
2 1,094,000
= 646,600
403 XX SHRI S XH=2 01 & 1,740,600 1,738,500 2,100
2 1,094,000
= 646,600
01 XX S RH= 2 = 1,740,600 1,738,500 2,100
OORI0IE &AM 1,641,000
= 1,094,000
= 547,000
ONBI0IE JIsEY 99,600
HSSEAH A 31,136,731 29,106,861 2,029,870
2 23,928,255
= 7,208,476
308 XHXISHHI S 01 31,136,731 29,106,861 2,029,870
2 23,928,255
= 7,208,476
01 HXSHHBALER 31,136,731 29,106,861 2,029,870
OBSSS MU~ 31,106,731
=2 23,928,255
= 7,178,476
OO0FHORI0IE 29 30,000
2I0IE DI0IZ0IS LS 36,723,539 4,821,751 31,901,788
2 28,248,876
= 8,474,663
308 XX SHAI SOI& 36,723,539 4,821,751 31,901,788
2 28,248,876
= 8,474,663
01 IXSHBALED 36,723,539 4,821,751 31,901,788
OJ® gs+2 X2 36,723,539
2 28,248,876
= 8,474,663
ZONOIE S BHAMH 33,000 33,000 0
2 22,000
= 11,000
403 XHXI SHRI S K= 0] & 33,000 33,000 0
2 22,000
= 11,000

@




M MEADE SO
M HEL I=ES SE 42 &
el R0t EFAHHIA DBt &5 EEEEE]
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES O AF K loﬂ/l\_Fo” Hlw &2
01 AXIEH A2 2L 33,000 33,000 0
OOt 228 M 33,000
= 22,000
= 11,000
gde0t 222 N 158,728,068 134,525,407 24,202,661
2 100,778,636
= 30,272,674
2 27,676,758
308 XXM SO0IA 158,728,068 134,525,407 24,202,661
= 100,778,636
= 30,272,674
£ 27,676,758
01 IXNHHEMNEXES 158,728,068 134,525,407 24,202,661
OZgwrot 252 XN 131,012,227
= 100,778,636
= 30,233,591
QO35 FeItE B3 X 27,546,480
£ 27,546,480
Oogl=z 252 XNE 169,361
& 39,083
£ 130,278
380 XN 1,722,500 949,478 773,022
= 1,325,000
& 397,500
308 XXM SO0 1,722,500 949,478 773,022
= 1,325,000
= 397,500
01 XM BLEES 1,722,500 949,478 773,022
Os380eold XN 1,722,500
= 1,325,000
= 397,500
WAL EZNE 4,358,018 2,238,248 2,119,770
= 3,352,322
& 1,005,696
308 XXM SOIA 4,358,018 2,238,248 2,119,770
= 3,352,322
& 1,005,696
01 AXNHHBEANEXS 4,358,018 2,238,248 2,119,770
QuA 23 N 4,358,018
= 3,352,322
= 1,005,696
2 2LIHEH 2 X2 38,621 0 38,621
= 29,709
& 8,912
308 XXM SO0IH 38,621 0 38,621
= 29,709




B . M. CHe (5 HIEAS . T Al OH HEE Hl =2+
& 8,912
01 XA EEZ 38,621 0 38,621
OR2 ZLHHEH 38,621
= 29,709
= 8,912
S O =& 3,948,087 5,998,749 A2,050,662
= 1,351,258
| 1,690,922
= 905,907
NE4a & =& 3,948,087 5,998,749 A2,050,662
= 1,351,258
| 1,690,922
& 905,907
CHetadur Mot 28 S4LS 7,500 7,500 0
307 S12H0| & 7,500 7,500 0
04 QULHAIE X 7,500 7,500 0
Ot SMN6t= 7,500
CAESYEIE &8 4,000 4,000 0
201 B2 FH| 4,000 4,000 0
01 At 2teltl 4,000 4,000 0
OCXH SEIE A 4,000
H&EZOe s&XI2= X 52,930 0 52,930
= 46,900
& 6,030
308 AtXIEHM SOl 52,930 0 52,930
= 46,900
& 6,030
01 AXEHBINELZ 52,930 0 52,930
OHLHMR S&F0tXZ 52,930
= 46,900
= 6,030
or0Igd| Z2M4 g2s28 X 80,000 100,000 A 20,000
= 40,000
& 40,000
307 2I2tol ™ 80,000 100,000 A 20,000
= 40,000
& 40,000
02 It B AE X 80,000 100,000 A 20,000
OO0L0IZ DI E2 M4 80,000
= 40,000
& 40,000
SN AE M SHEXILE 10,000 10,000 0
307 21201 & 10,000 10,000 0




SA: HEMDES DY
Hu: B R =X
ool HEA HH EX (=E L
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2
02 IANAMBE 10,000 10,000 0
OBMESHASBZTLE 9B £ 10,000
A ZAIZHI X 2 1,406,398 1,712,046 A305,648
p 1,004,490
= 401,908
201 Q2| 700 700 0
p 420
= 280
01 AL Z2IH| 700 700 0
oLyEe pojsg 700
| 420
= 280
308 XXl £t S0l & 1,405,698 1,711,346 A305,648
| 1,004,070
= 401,628
01 RASHBABES 1,405,698 1,711,346 305,648
OHARS XA 1,006, 188
p 718,706
= 287,482
O BAHAIZH X & 399,510
p 285,364
= 114,146
MMERIH2 23,763 258,843 A235,080
| 15,842
= 7,921
308 Xt EHHI S0 & 23,763 258,843 A235,080
| 15,842
= 7,921
01 RXISHBASES 23,763 258,843 235,080
OMMIRIY 29 23,763
p 15,842
= 7,921
LI ASSE X2 14,138 15,000 862
| 9,425
= 4,713
308 Xt I S0 & 14,138 15,000 A862
| 9,425
= 4,713
01 HXSHBALED 14,138 15,000 862
Ol Oi& AYZZ 14,138
I 9,425
= 4,713
HESTHALOIA AL & BHOt22) 325,425 311,700 13,725
p 216,950
= 108,475




SH: HEMDYSHHY
M YEM Y =X
ol B O EE (el @g
_ _ _ Muo
SN FHH S (3H) - HREAY - BES O & 04 il b o Hms2
308 Xt X £HHI S 01 & 325,425 311,700 13,725
| 216,950
& 108,475
01 AXEHBINELZ 325,425 311,700 13,725
OHES THAOIAZIA Y B0t 325,425
| 216,950
= 108,475
OIS0t &L 0l &0 2 =H] 583,200 535,725 47,475
| 388,800
& 194,400
308 AtXIEHM SOl 583,200 535,725 47,475
| 388,800
& 194,400
01 XM BLEELS 583,200 535,725 47,475
ODI%0t 2 S&AO0IA0F 22| X2 563,200
| 388,800
& 194,400
A MOFHE X | &I 33,623 32,977 646
| 22,415
& 11,208
308 XX/ &I S 01 & 33,623 32,977 646
Il 22,415
& 11,208
01 XM BLEES 33,623 32,977 646
OLIMOF B2t H2 A 33,623
J| 22,415
= 11,208
A2 Aot E R0 XA 1,357,610 1,341,788 15,822
= 1,264,358
& 93,252
307 2I2tol A 21,000 16,313 4,687
= 21,000
05 QIzt2E 3 21,000 16,313 4,687
O&Z A0 20| BRI 21,000
= 21,000
308 AHXIEHXI S 01 ™ 1,336,610 1,325,475 11,135
= 1,243,358
& 93,252
01 XIS H AR ES 1,336,610 1,325,475 1,135
O/t A0t S<0] XI&A 1,336,610
= 1,243,358
& 93,252
AW M2 JaSs4 o2 K& 49,500 52,200 A2,700
J| 33,000
& 16,500
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